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1(a) If the ratio of 𝑥: 𝑦 is 6 ∶ 11, and 𝑥 = 27, 

what is the value of 𝑦?

[1 mark]

32 33 49.5 55

1(b) If 200 grams of one ingredient is used in a recipe, which calls for a ratio of 4 ∶ 7 with a 

second ingredient, how much of the second ingredient is needed?

[1 mark]

203 grams 280 grams 350 grams 1400 grams

1(c) In a class of 42 students, the ratio of male : female is 2 ∶ 4.

How many females are there?

[1 mark]

14 28 40 42

Turn over ►

3
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2 Consider the following table:

2(a) Complete the table for the missing values.

[2 marks]

Answer

2(b) Express the ratio 𝑥 ∶ 𝑦 in simplest form.

[2 marks]

Answer

Turn over ►

4

𝑥 𝑦

12 28

21 49

36 84

51

133
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3 There are 200 medals bought for a sports celebration. 

The ratio of winning medals to participation medals is 1: 4.

3(a) How many of each of  the winning and participation medals are there?

[2 marks]

Answer

3(b) An additional 40 medals are purchased.

The ratio of winning medals to participation medals remains at 1: 4.

Find the number of winning and participation medals there would be after the 40
medals are added. 

[2 marks]

Answer

Turn over ►

4
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4 Terry, Alisha and Ella run on a weekly basis. 

In total, they average 176 km a week. 

If Alisha runs twice as far as Terry and Ella runs one third of Alisha's distance, how 

far do each of them run?

[3 marks]

Answer

5 A construction company needs workers for a job. 

The ratio of general labour to management is 8 ∶ 1

The budget for each general labourer is £2,500 and £8,200 for each management 

employee. 

There are 32 general labourers employed. 

How much is spent on all the employees for the job?

[3 marks]

Answer

Turn over for next question

Turn over ►

6
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6 There is £80 in a pot which is shared out amongst 3 people. 

Anne gets £20, Mark gets £35 and Ben gets £25.

What ratio of the money does each person receive?

[2 marks]

Answer

7 210 cakes are shared out in a ratio of 1 ∶ 2 ∶ 3 in to groups 𝑎, 𝑏 and 𝑐 respectively. 

How many cakes does each group receive?

[2 marks]

Answer

Turn over ►

4
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8 £60 pocket money is split between three people. 

Sally gets twice the amount of Rob and Malik gets three times more than Rob.

8(a) How much money does each person get? 

[2 marks]

Answer

8(b) How much does each person get if the original amount is reduced by 50%? 

[2 marks]

Answer

Turn over ►

4
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9 There are 24 people working in a kitchen, 

4 men below the age of 18

4 women below the age of 18,

8 women above the age of 18

8 men above the age of 18

9(a) What proportion of the people in the kitchen were male? 

Give your answer as a fraction in its simplest form.

[1 mark]

Answer

9(b) Find the ratio of women below the age of 18, compared to the total numbers of 

workers in the kitchen. 

Give your answer in its simplest form. 

[2 marks]

Answer

End of Questions

END

4


	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8

